	1) A man has 6 fingers on each hand and 6 toes on each foot. His wife and daughter each have the normal number of digits. Extra digits are a dominant trait. Using E for extra digits and e for normal; answer the following:

A. What is the genotype of the wife?

                     e

B. What is the genotype of the daughter?

                    e

C. What is the genotype of the 6 fingered man?

                    E

D. Show a punnett square with the cross between the man and his wife and the expected offspring they would form.
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Key = E = Extra digits 

          e = normal

          ee = defective

 

 

 

 

 

 

 

2) Two people have a child with sickle cell anemia. Neither of them are affected by the disease.

           Key = S = sickle cell trait; s = normal

A. Is sickle cell disease cause by a dominant or recessive gene? Explain.

       Sickle cell disease is a recessive gene disorder where the red blood cells form a sickle shape getting caught in blood vessels cutting off oxygen to tissues.  This recessive disorder in the hemoglobins protein.  

B. Using your explanation above, give the genotype of the affected child.

                 S

C. Give the Genotypes of each parent.

Mother = s    Father = s

D. Show a punnett square with the cross that is described above.

                 

Mother

Father

s

s

s

s s

s s

s

ss 

s S

Key = S = Sickle Cell 

          s = normal

          sS = defective

E. Using the punnett square, tell what the odds are that their next child will not have sickle cell disease.

Mother

Father

s

s

s

s s

s s

s

ss 

ss

Key = S = Sickle Cell 

          s = normal

          sS = defective

    **** No chance of next child having sickle cell
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